

(A Subsidiary of Coal India Limited)

Bhuli Town Administration

Bhuli: Dhanbad- 828104 PHONE NO. 0326-2340420, 2340341

No.BCCL/BTA/Bhuli/Corrig/2011/

Dated-----2011.

CORRIGENDUM

REF:QUOT NO..BCCL/BTA/BHULI/2011/QUOT /10-11/394 DATED25.3.2011.

The Date of sale of B.O.Q. invited vide QUOT No.BCCL/BTA/BHULI/2011/QUOT /394 DATED 25.3.2011 is here by extended up to 6.4..2011 & 7.4.2011 & accordingly the date of receipt of QUOTATION 12.4.2011 up to 3. P.M. and QUOTATION will be opened on 13.4.2011 at 12.30 P.M. .

This issues with the approval of Competent Authority.

Dy.CE© BTA

C.C. TO

- 1. G.M.(Civil) CEWD Koyla Nagar
- 2. Chief Manager(Civil)W/s CED Koyla Nagar./
- 3. G.M.(System) Koyla Bhawan. With a request to display this corrigendum in BCCL website. The downloading facility should be available during the period of sale of B.O.Q. only.
- 4. Dy.Chief Engineer(Civil) TC CED Koyla Nagar.
- 5. F.M.(BTA) Bhuli.
- 6. Inspector I/C CISF Koyla Bhawan.
- 7. Notice Board, BTA, Bhuli.
- 8. Website http://bccl.cmpdi.co.in



(A Subsidiary of Coal India Limited)

Bhuli Town Administration

Bhuli: Dhanbad- 828104 PHONE NO. 0326-2340420, 2340341

No RO	CI/Rta	/Rhuli	/Ount/	10-11/
יט.טנו	CI/ Dta.	/ DHUII/	Quoti	TO-TT/

Date:	2	0	1	1

QUOTATION NOTICE.

Sealed quotation on Percentage Rate above or below basis are invited from the reputed contractors for the under mentioned works and the same will be received from 11AM to 03 P. M on 31.03.2011 and opened at 3.30 P. M. on the same day at the office of the Dy.CE©BTA ,Bhuli in the presence of intending tenderers or their authorized representatives. B.O.Q. for the job can be obtained from the office of the Dy.CE©BTA during office hours from 29.03.11 to 30.03.2011 . The quotation is also available on Website http://bccl.cmpdi.co.in and can be downloaded. The other documents such as General Terms and Conditions and responsibility of the contractors, additional safety measures etc. also can be seen at the office of the Dy.CE©BTA ,Bhuli.on any working day which will be applicable to the contract. The details of works are given below:-

Sl.No.	Name of work	Est.Cost.	Earnest Money	Time of comp.
1.	Repair & Maint of Cammunity Centre at C Block Bhuli.	Rs.5243.90	Rs.53.00	05 Days.
2.	Finishing work in shiv mandir near thana of bhuli.	Rs.16914.70	Rs.170.00	05 Days.
3.	Maint. Work in siv mandir at A block bhuli.	Rs. 7617.72	Rs. 77.00	05 Days.
4.	Finishing work with miner rep. work in shiv mandir at D block bhuli.	Rs. 9372.97	Rs.94.00	05 Days.
5.	Distempering Painting at Cammunity Centre at old B Type , Bhuli.	Rs.5934.39	Rs.60.00	05 Days.
6.	Maint. Work in shiv mandir at B block bhuli.	Rs.8961.46	Rs.90.00	05 Days.
7.	Rep. & Maint. Work in 2 Nos. Cammunity Centre at sec. I & IXA D Block Bhuli.	Rs.11354.00	Rs. 114.00	05 Days.



(A Subsidiary of Coal India Limited)

Bhuli Town Administration

Bhuli: Dhanbad- 828104 PHONE NO. 0326-2340420, 2340341

No materials will be issued by the department for this work. The quotation to be submitted in single part. No tender without Earnest Money will be accepted. The Draft of Earnest Money should be after the date of quotation.

The tenderers have to submit Permanent Account Number of Income Tax (Pan No.) & Tin No.

Dy.C.E©B.T.A

Distribution.

- 1) G.M.(Civil)CED, Koyla Nagar.
- 2) Chief Manager (Civil) W/s. CED, Koyla Nagar.
- 3) G.M.(System) Koyla Bhawan.
- 4) HOD(Admn.) BCCL,, Koyla Bhawan.
- 5) F.M., BTA, Bhuli.
- 6) Inspector I/C CISF Koyla Bhawan.
- 7) Notice Board, BTA, Bhuli.
- 8) Website http://bccl.cmpdi.co.in



(A Subsidiary of Coal India Limited)

Bhuli Town Administration

Bhuli: Dhanbad- 828104 PHONE NO. 0326-2340420, 2340341

BILL OF QUANTITY FOR THE WORK OF REPAIR & MAINT. OF COMMUNITY CENTRE AT C BLOCK ,BHULI SL.NO.1.

SL.NO.	NAME OF ITEM	QUANTITY	UNIT	RATE	AMOUNT
					RS.
1.	Distempering with dry distemper.	98.19 sqm	sam	12.35/sqm	1212.64
2.	White washing two coat on old surface.	244.29sqm	sqm	4.10/sqm	1001.38
3.	Painting with synthetic enamel paint.	7.70 sqm	sqm	22.85/sqm	175.94
4.	6mm th. Cement plaster 1:3.	7.44 sqm	sqm	62.15/sqm	462.39
5.	12mm th. Cement plaster (1:6)	15.00 sqm	sqm	67.65/sqm	1014.75
6.	25mm th. Cement concrete floor (1:2:4)	16.00 sqm	sqm	86.05/sqm	1376.80

Total Rs. 5243.90



(A Subsidiary of Coal India Limited)

Bhuli Town Administration

Bhuli: Dhanbad- 828104 PHONE NO. 0326-2340420, 2340341

BILL OF QUANTITY FOR THE WORK OF FINISHING WORK IN SHIV MANDIR NEAR THANA OF BHULI SL. NO.2.

SL.NO.	NAME OF ITEM	QUANTITY	U NIT	RATE	AMOUNT.RS.
1.	12MM TH.Cement plaster 1:6.	15.0	sqm	67.65	1014.75
2.	Painting of wall with plastic emulsion.	300.0	sqm	25.85	7755.00
3.	Distem pering with oil bound washable distemper.	125.0	sqm	14.90	1862.50
4.	Painting with synthetic emamel paint .	47.0	sqm	22.85	1073.95
5.	Colour washing on old works	350.0	sqm	3.85	1347.50
6.	Finishing of wall with water proofing cement paint.	180.0	sqm	21.45	3861.00

Total Rs. 16,914.70



(A Subsidiary of Coal India Limited)

Bhuli Town Administration

Bhuli: Dhanbad- 828104 PHONE NO. 0326-2340420, 2340341

BILL OF QUANTITY FOR THE WORK OF MAINT. WORKS IN SHIV MANDIR AT A BLOCK, BHULI SL.NO.3.

SL.NO.	NAME OF ITEM	QUANTITY	UNIT	RATE	AMOUNT
					RS.
1.	Distempering cement plaster of shiftingcomp.	15.0	sqm	8.20	123.00
2.	12mm th. Cement plaster 1:6	15.0	sqm	67.65	1074.75
3.	LAYING 25 mm. thick cement concrete 1:2:4 flooring.	10.0	sqm	86.05	860.50
4.	Painting with synthetic enamel paint over old surface.	14.10	Sqm.	222.85	322.18
5.	White washing on old works.	80.0	Sqm	4.10	328.00
6.	Painting with water proofing. Cement paint.	165.0	sqm	27.95	4611.75
7.	Labour cost for site cleaning & site dressing.	2.0	P.head	148.77	297.54

Total Rs.7617.72



(A Subsidiary of Coal India Limited)

Bhuli Town Administration

Bhuli: Dhanbad- 828104 PHONE NO. 0326-2340420, 2340341

BILL OF QUANTITY FOR THE WORK OF FINISHING WORK WITH MINOR REPAIRING WORK I N SHIV MANDIR AT D BLOCK, BHULI. SL.NO.4.

SL.NO	NAME OF ITEM	QTY.	UNIT	RATE	AMOUNT
1.	Painting with synthetic emanel paint over old surface.	35.34	sqm	22.285/sqm	807.51
	Comp.				
2.	Distempoering cement plaster of shifting.	10.98	sqm	8.20/sqm	90.03
3.	12mm th. Cement plaster 1:6.	10.98	sqm	67.65/sqm	742.79
4.	White washing old works.	143.67	sqm	4.10/sqm	589.04
5.	Colour washing on old works	345.39	sqm	3.85/sqm	1329.75
6.	Painting with water proofing cement paint over old	190.12	sqm	27.95	5313.85
	surface.				
7.	Cleaning & Painting of Kalash Set complete including	1.0 job	job	500/job	500.00
	supplying of materials.				

Total Rs. 9372.97



(A Subsidiary of Coal India Limited)

Bhuli Town Administration

Bhuli: Dhanbad- 828104 PHONE NO. 0326-2340420, 2340341

BILL OF QUANTITY FOR THE WORK OF DISTEMPERING PAINTING AT COMMUNITY CENTRE AT OLD B TYPE, BHULI SL.NO 5.

SL.NO.	NAME OF ITEM	QTY.	UNIT	RATE	AMOUNT
1.	Finishing wall with water proofing cement paint.	80.19	sqm	21.45/sqm	1720.07
2.	Distempering with oil bound distemper.	106.29	Sqm.	10.30/sqm	1094.78
3.	Painting old coat on old surface.	37.32	sqm	16.70/ sqm.	623.24
4.	Colour washing two coat on old surface .	384.82	Sqm.	3.85/sqm	1481.55
5.	12mm th. Plastering (1:6) on wall.	15.00	sqm	67.65/sqm	1014.75

Total Rs. Rs. 5934.39



(A Subsidiary of Coal India Limited)

Bhuli Town Administration

Bhuli: Dhanbad- 828104 PHONE NO. 0326-2340420, 2340341

BILL OF QUANTITY FOR THE WORK OF MAINT. WORKS IN SHIV MANDIR AT B BLOCK BHULI SL.NO. 6

SI.No.	Name of item.	Qty	Unit	Rate.	Amount
					Rs.
1.	12mm thick cement plaster 1:6 as per direction of CE 1	8.70	sqm	67.65/sqm	588.55
2.	Distempering with oil bound distemper.	210.50	sqm	14.90/sqm	3210.95
3.	White washing on old work.	365.25	sqm	4.10/sqm	1497.52
4.	Colour washing on old works.	231.0	sqm	3.85/sqm	889.35
5.	Painting with synthetic enamel paint over old	32.33	Sqm.	22.85/sqm	734.74
	surfaces.				
6.	Painting with water proofing cement paint.	73.0	sqm	27.95/sqm	2040.35

Total Rs. 8961.46



(A Subsidiary of Coal India Limited)

Bhuli Town Administration

Bhuli: Dhanbad- 828104 PHONE NO. 0326-2340420, 2340341

BILL OF QUANTITY FOR THE WORK OF MINOR REPAIRING & MAINTENANCE PWORKS IN 2 Nos. COMMUNITY CENTRE AT SECTOR I & IX A OF D BLOCK BHULI SL. NO.7.

SL.NO.	NAME OF ITEM	QTY.	UNIT	RATE	AMOUNT
1.	Painting with synthetic enamel paint over old surface	37.0	sqm	22.85/sqm	845.45
	comp.				
2.	Laying 40mm th. Cement concrete 1:2:4 flooring.	2.60	sqm	192.95/sqm	501.67
3.	White washing old old work .	356.00	sqm	5.10-/sqm	1459.60
4.	Distempering of wall surfaces with oil bound washable;e	91.0	Sq,m	14.90/sqm	1355.90
	distemper.				
5.	Painting with water proofing cement paint over old	243.00	sqm	27.95/sqm	6791.85
	surface.				
6.	Painting of Kalash including cleaning & supplying of all	2.0 Nos.	each	200.00	400.00
	materials compl. Two temples.			each	

Total Rs. 11,354.47